MAT 121-G11 —Fall, 2011 Test 2
Chapter 2

1. (10pts) f={1-1)(24).3.2),(4.4)}

Name KE' \’

a. Function? (Yes/no)

Ves

o

If not, why not?

c. What’s the domain?
0B N E

d. What’s the range?
I-L,9,2¢

2. (10 pts) For each of the following graphs, determine if the relation is a function. Ifitisa

function, state whether or not it is 1-to-1.
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Is it a function? ~ )=#5 Is it a function? '}' 25 Is it a function? N o)
If it is a function, is it 1-to0-1? If it 1s a function, 1s it 1-to-1?  Ifit is a function, is it 1-to-1?
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3. (10 pts) Let f(x)=x"+3. Simplify the difference quotient i s h]z mAC)) ;
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4. (5 pts) Determine whether or not y*> —2x =35 defines y as a function of x. Ifit does not,

show/explain why not. (Solve for y and look at how many solutions you get.)
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5. Let f(x)=

):+2 and g(x)=+/x+8.

X
a. (5pts) What is the domain of 12
Talxt G- (Fee, OOUCG00)
b. (5pts) What is the domain of g ?
= x (X > "‘5?: E: ‘g/cm\
c. (5pts) Find (f og)x). (Do not simplify.)
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d. (5pts) What is the domain of (f 0g)(x)?
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Still working with f(x) = A—+2 and g(x)=~+x+8.
x‘

e. Determine each of the following functions (without simplifying) and state the domain of

each in interval notation. - |
ﬁ‘( X -8 avd Xi‘(o?
i (pts) (f+g)x)
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i. (5 pts) (1](,‘»‘) = _'_’::ﬁ_- ‘
- o ® Qo 4 ¥ gﬁ&}:Q~

6. (5 pts) Answer one of the following:
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o
Y +3
b, Let flaj="22 Tind {6 Q} S
x—1 L.f
. ‘ o ;.’;A*-\’\':, = [ .{.—3
(& $ £6)2E60) The L A
wy=% =YYT
*x . ¥3 *ot 3 ‘
—-—\“"— = — ; - (ol ;
- < ﬁ;\ ,’“ﬁ.,\.j S
- 7 D ) R 3}
N "{.~\> ¢ CK"U/“"“”‘“’T‘
("1’ STCROE (raxD) L%y 7 \"xe 2 - ‘\
2 | B ) <7‘\> \
2= :\i—ﬂ'\;‘*z*’/g*l *:j':“" w— |
(x A3 REX § ,
R + 3R
DKy - M7 Pz ‘
—\4%, = ~N X



MAT 121 Test 2, Fall, 2011 Page 4

7. (5 pts) The graph of 1 is given. Sketch the graph of .

8. (5pts) If f varies jointly as x and w and inversely with the cube of », write the equation

describing this relationship.

~ * W
L=k

9. Graph each of the following functions using techniques of shifting, compressing, stretching,
and/or reflecting. Start with the graph of the basic function and show all stages in separate

sketches. Track 3 key points through the transformations.
a. (5pts) g(x)=2x+5/+4
= £
Poyz(w Pevars ) (wrs ) 2 p(w+8) = 2 1%+ (
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#9, continued. . Graph using transformations.
b. (Spts) h(x)=249— 3x Hint:

N R,
)= (-2 (x-3)
£ =\X £G2x) =63y Pé%x!ﬂ_‘ 2 (x~3

& 1)

\ Page 5

&
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9—3):=—3x+9=—3(x—3)
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10. Solve the absolute valye mnequalities:

a [2x-3-1>5 b. Px-3-1<-5

[2x=31>0 H \2n-3| & =Y
2% -235> 6 of. Lx-3 £~0 @
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